CCNA3 Module 1 

1. What is the advantage of IPv6?

2. Why is scalability is important for network?

3. What is VLSM and why is it used?

4. What are the protocols that support VLSM?

5. What are the differences between classful routing protocols and the protocols that allow VLSM?

6. Why the first and the last subnet were not supposed to be used in the past?

7. If the team decides to use subnet zero, how many useable subnets will there be?

8. If the team decides to use the no ip subnet-zero command, how many usable subnets will there be?

9. Take a look the figures 2 and 3, explain why this address scheme would waste one-third of the potential address space?

10. Which routing protocols don’t support VLSM?

11. Explain how network administrators can avoid a lot of waste, it they VLSM?

12. What does “aggregate” mean?

13. Why is route aggregation important? (four reasons)

14. In what condition is route summarization or supernetting possible?

15. What are the important rules to remember for summarization to work?

16. In Figure 2, why 192.168.10.128/30 , 192,168.10.132/30, 192.168.10.136/30 use /30 while 192.168.10.64/27, 192.168.10.0, 192.168.10.96/28, 192.168.10.112 use different subnet masks?

17. What is AS? 

18. What is EGP?

19. What is EGP?

20. What is RIP v1 and what kind of protocol it is and what is the default interval and what metric is used?

21. What are the advantages and disadvantages of RIP v1?

22. RIP v1 is capable of load balancing over as many as ______ equal-cost paths, with _______ paths as the default.
23. What features do RIP v2 and RIP v1 share?

24. Explain briefly the features of RIP v2.

25. Compare RIP v1 and v2 (Figures and 1.2.3)

26. Do the Interactive Media Activity

27. What tasks must be completed to enable a dynamic protocol?

28. Study the figures from 1-4.

29. What do show ip protocols and show ip route commands display?

30. How long is the holddown timer for RIP?

31. If there is still no update after 240 seconds what does the router do?

32. Take a look at the figures.

33. What is show ip interface brief used for?

34. What does show ip route display?

35. What do show running-config or show ip protocols check?

36. What does debug ip rip display?

37. What is no debug all or undebug all used for?

38. What does the example in Figure 2 show?

39. What other outputs sometimes seen from the debug ip rip include?

40. What is this entry "RIP: bad version 128 from 160.89.80.43" mostly likely caused by?

41. What are static routes and what is the command for the static route?

42. What are default routes and what is the command for a default route in networks using dynamic routing protocols?

43. What are default routes and what is the command for a default route in networks using static routing protocols?

44. What do the zeros in the IP address and mask portions of the command represent?
